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PAPER 2 1% hours
ESSAY
[60 marks]

This paper is in two sections A and B. Answer Question 1 in Section A and any other three
questions in Section B.

Answer all the questions in the spaces provided in this question paper. At the end of the
examipation, you should submit the entire question paper (o the invigilator.

Any candidate who tears off any part of the question paper will be severely penalized.

Whether you answer all the questions in this paper or not, hand in the entire question paper
to the invigilator.

Credit will be given for clarity of expression and orderly presentation of material.

SECTION A
[24 marks]
Answer question 1
[Compulsory]

1. (a) Name the features labeled A, B, C, D, E and F in the webpage below and state one function
of each.
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(b) Study the diagram below and answer questions (i) to (iv).

A B

(i)

(i)

(iii)

(iv)

(c) Study the spreadsheet below and use it to answer questions 1(b) (i) to (vi)

BEST BRAIN

I'ove best brain because their questions meets B.E.CE standard. Most of the

time we find some of their questions in B.E.CE.

Because they have examiners whe can predict expected questions for the

BECE.

Name the application program used for the figure above.

e wese sen oo

[1 mark]
Write the names of the parts labeled A,B,C,D,E, F, G and H..

[4 marks]
What is the name of the area where the sentences are written?

co-o----.-o-.---.-..-u----.---.-.--.-..-.----.--u-..-uo-------.-.-..-..-..-------.-..-.--.--..-.a.-.-u-o-

~ [1 mark]
Which two tools were used to format the last paragraph?

M A L T A A R N

[1 mark]

SCORESHEET.xlsx =
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m Give the file name
(1 mark]

(i1) Give the file extension
{1 mark]

(i) Name the worksheets in the workbook.

[1 mark]
(iv)  State the use of the command groups labelled I, 11, 111 and IV.

.
II: .
111:
1\7.

(V) Write down two formulas that can be used to find the average of all the marks entered
in the spreadsheet using the SUM and AVERAGE functions.

......-....--.....-.-.....co..--.-..--...--.-.-..---...---....-.-.-....--...-....-....--...-...--..-.--.-.-..------.----.--.-.--.---..-.-..-.-.......-.-....-...--.-......--.
..-....-..-'-.....-.--o-...o--..-..o.---on-o.o.:o.-.o.o--o.--.-.---...-.--......-..-.-..--.;-.--.-..-.o--..n-o.oo.o---.-o.--n--o.---o-u--.-o-..--..--o.o-.----.-..-..o--oo--o.
..-............-..-.-.--.--.---o--.-....o.----..o.--.u.-o.----.-.--.----...-..-..-....-......--.-.--....-.-...-..---o.-.-..-.---o----..--.--.-....o..---.-.-..-.-.-..--...-.-..

{1 mark]
(vi) Describe two calculations in the spreadsheet that can be performed using AutoSum.

....-...-.-..-..--...-.-.--....-'...-..--.---.-----....-.-..-...-......-.....o....--.-....-.-....-..-.-..-.-.--.----.--...-..-.--.-.-.-....-..-......-..o.-....-..-
-0-'.-o'-o.'-ooo--t-c--oooocto--oo--t'tuo--oo-oouo-c-oto'o-nooocc-v-q-ugoo'.oo-'.o.-'-ooooo..-oou-oo-oo-oo-n-ao-oo-oocooutu.o.oo-rot.--o--;'.ooocc-oou-t;ot-»-vnooo
.o-...-..-.u....o..---.-o.-o.o.-.--.----.--.o-..----o.n..a-o...---.n-a.-o.-.-a-.--.-.-.o..---.--..--o-o----o.------n.o-----.-...-..o..-.--.-..-o..-.-....o-...o.oo.

--o....-..-.¢..-..-.-...---.-.o..-.o..o.--.o-.-.c-.--.-..---.o..---.o-..--......---.-.-....oa...--.-.--.o.o--o.--......---.--.-..---..-...o-;-.c...-a.----.----.-.-

[1 mark]

(d) The diagr

am below shows the alphanumeric section of the computer keyboard.
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Write in the right order from left to right, the missing characters in the following parts:
(M) Number row keys:
(i)  Qwerty row keys:

(iii)  Home row keys: ...

(iv)  Bottom row keys:

[4 marks]
SECTION B
[36 marks]
Answer three questions only from this section
2. (a) Outline the steps involved in saving a newly created document.
...................................... Qeceeeesenntnnreansnonceeetononneostensssocsassescacsssncssssoscasseseocassssasscssans
‘ [3 marks]
b) Write down the steps to save a formatted text with a new name on the desktop.
[3 marks]
© State two differences each between:
(i) a worksheet and a workbook.
WORKSHEET WORKBOOK
(i) _ random access memory and read only memory.
RANDOM ACCESS MEMORY READ ONLY MEMORY
[4 marks]
Turn over
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(d)  Explain the following terms:

(1) Data theft:

(i1) System crash:

[2 marks]
3. (a) Identify four benefits associated with using information and communications Technology in
teaching and learning.
{4 marks]
(b)  Listsix uses of the internet.
{3 marks]
(© Outline three benefits of copyright protection.
[3 marks]
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(d) Explain the following terminologies in information and communications technology:
(i) Range:

-------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------

........................................................................................................................

-------------------------------------------------------------------------------------------------------------------------

[2 marks]
4, (a) Outline the steps you will follow in:
(i) starting Microsoft Excel from the Start menu.
(i) using the AutoSum function of Microsoft Excel for addition operation.
[3 marks]
(b) State the basic function of each of the following parts of a web browser:
(i) Back button;
(i1) Adress bar;
[2 marks]

(¢) Give four differences between selecting and highlighting text in a Word Processing application.

SELECTING HIGHLIGHTING

[ 3 marks]

Turn over
09010021 ICT 2&1 bbeko




8

(d)  Write down the steps in the right order of creating a new workbook in Excel program.

------------------------------------------------------------------------------------------------------------------------

[ 4 marks]
4 (a)  State four important features of storage media.
| 4 marks]|
(b) State four ways to protect storage media.
[ 4 marks]
©) (i) Name four examples of word processors.
(ii)  Give four examples of operating systems.
[ 2 marks]
(d)  Complete the table below on keystroke combinations.
KEYSTROKE ACTION USED TO PERFORM
Ctrl +4
To move up one window.
Ctrl + End
To move to the beginning of a document.
| 2 marks]

END OF ESSAY TEST
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DO NOT TURN OVER THIS PAGE
UNTIL YOU ARE TOLD TO DO SO

YOU WILL BE PENALIZED SEVERELY IF YOU ARE
FOUND LOOKING AT THE NEXT PAGE BEFORE
YOU ARE TOLD TO DO SO

PAPER 1 45 minutes
OBJECTIVE TEST
Answer all the questions on your Objective Test answer sheet.

1. Use 2B pencil throughout

2. On the pre-printed answer sheet, check that the following details are correctly printed:
Your surname followed by your other names, the Subject Name. Your Index Number;
Centre Number and the Paper Code.

3. In the boxes marked Candidate Number, Centre Number and Paper Code, reshade each of the
shaded spaces. ‘

4. An example is given below. This is for a candidate whose name is Seyram BABANAWO.
Her index number is 7723 84188 and she is writing the examination at Centre Number 77234.
She is offering Information and Communication Technology 1 and the Paper Code is 4510.

BEST BRAIN EXAMINATION KONSORTIUM

SPECIAL PRIVATE MOCK FOR BECE CANDIDATES
OBJECTIVE ANSWER SHEET.

CANDIDATE NAME: SUBJECT:
BABANAWO 1.C. T
- -
- -— -—
1. Use HB Pencil Press firmly Firstmark completely -—
2. Answer each question b choosing one letter and 4. Ifonly four alternative answers are given for —
then, shade through the letier chosen like this each question, ignore the letter E f—
Al c] D] [E
A e [c1 b1 i ] 5. Your question paper may have fewer than 60 -
3. lfyou wantto change an answer, rul outyour Questions. e
]
-—
—
-
For [
Supervisors
Only. —
]
if —
candidate
is absent -
shade -_
this
space w—
o | |
-
—
I
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Answer all the questions.

Each question is followed by four options lettered A 10 D. F. ind out the correct option for each
question and shade in pencil on your answer sheet the space which bears the same letter as the option you
have chosen. Give only one answer to each question. An example is given below.

A group of files are stored in a

. graphic
B. folder
C. text

word

C-A — |—7!-ﬂl3 [I— C—h—
Think carefully before You shade the answer spaces. Erase completely any answer Yyou wish to change.
Do all rough work on ihis paper.

Now answer the Jollowing questions.

1. We can secure our intellectual properties through
A, copyright law.,
copyright infringement.

¢opyright protection.
D. copyright distribution.
2. The operating system of a computer manages the communication between

A. keyboard and the mouse.
microsoft office and open office.

C. utility software and the application software.
D. hardware and the application software.
3. Using CTRL + ALT +DEL keys command combination wil] lead to
A, warm booting of computer system.
B. cold booting of computer system.
C. hibernation of computer system.
D. shutting down of comiputer system.
4. In the computer field, a terabyte of data is equivalent to
A, 1000 Megabytes.
B. 1000 Gigabytes.

C. 1000 Kilobytes
D. 1000 Millibytes.

s. An example of an operating system is

A. EXCEL.

B. WORD.

C. DISC.

D.. DOS. .
6. Which of the following is true about the Spacebar in word processing?

A, It is hardly used.
B. It is frequently used.

C. It is used to erase characters.
D. It can be used in place of Enter key.
7. Which of the following is not true about a dialogue box?
A. It has a close button.
B. It contains a title bar.
C. It helps the user.
D. It interacts with the user.
8. Moving files from one place to another location
removes the original file from its original location.
B. retains the original files.
C. destroys the format of the original files.
D. protects the original files. v
9. The sharpness of an image on a monitor screen is determined by the number of
A. colours.
B. units.
C. pixels.
- D. bytes.

39010021 ICT 2&1 bbeko




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

11

The commonly used method for transferring files across networks and the internet is
A. Fast Transfer Protocol.
B. File Transfer Protocol.
C. File Transfer Projector.
D. Fast File Transferring.
The horizontal block or bar at the bottom of windows desktop which you use to access programs is
A. size bar
B. taskbar
C. paint bar
D. Brush bar :
The command that resends instruction in a browser window is
refresh.
back
home.
forward.
is important to sit properly when typing because it helps to
prevent injuries.
communicate with friends.
share resources.
avoid internet fraud.
he strip of buttons and icons located above a work area in a worksheet is the
Tab.
Sheet Tab.
Text data.
Ribbon
hich formatting tool will spread text evenly on a line?
Left align
Right align
Centre
Justify
he intersection of the 8th row and 7th column in a spreadsheet application will have the cell reference
8G .
G8
7H
H7
o avoid being cyber-bullied you should always

SPORPEEORE

CORPEFORS

—3

SPOR>

A. ignore requests from people to be your friend online.

B. observe proper internet ethical rules.

C. post mean things about people on your wall on Facebook.

D. give out personal information to anyone who requests.

Clicking the middle button on the control box will help switch between
A. Maximize and minimize

B. Restore down and maximize

C. Close and Restore down .

D. Minimize and Restore down

The mouse action which opens a context menu is

A right-clicking.
B. double clicking.
C. dragging.
D. triple clicking.
Which of the following fingers is used in pressing the secondary mouse button?
A. Right middle finger
B. Left ring finger
C. Right index finger
D. Left little finger
All the following are examples of internal hardware except
A. CPU.
B. mouse.
C. motherboard.
D. © RAM

Turn over
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22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

Which of the following is not a search engine? '

A. Bing

B. Yahoo

C. Windows
D. Google

Which of these is not a case type in MS Word?
A. Sentence case

B. Lower case
C. Toggle case
D. Capitalize each vowel

Local Area Network (LAN) cannot be used in
A. a school.

B. an office.
C. the world.
D. banks.

Save and Save as commands can be found in
A, File menu

B. Help menu

C. Edit menu

D. Format menu

A rectangle can be drawn easily in word
processing application using the

A. Square tool

B. Rectangle tool

C. Circle tool

D. Bezier tool

A web crawler is also known as

A. link directory

B. search optimizer
C. web spider
D. web manager

Which of the following is a button on the
mouse used to move through a web page?
A. Page up

B. Open drill

C. Page down

D. Scroll wheel

Double clicking the application/control icon on
the task bar of a web browser will

A. quit the application

B. restore the application

C. open the application

D. reshape the application

A hyperlink may be in any of the following
formats except

A, a word
B. a picture
C. an icon
D. a fleet

Which of the following tools can be used in
Encarta to look for information on computers?
A, Webpage

B. Forward button

C. Search tool

D Back button

12

32.

33.

34.

3s.

36.

37.

38.

39.

40.

To start Paint, we begin by clicking on the

A. Start button.

B. Paint button.

C. Accessories button.

D. Clock button.

To highlight text without using the mouse, use the
A. shift key while holding down the arrow
keys.

F5 key while holding down the arrow keys.
arrow keys while holding down shift key.
control keys while holding down shift key.
How many Paint brushes are there in Microsoft
Paint?

SOw

A. 9

B. 8

C. 11

D. 6

Commands on the ribbon are organized
A. in alphabetical order.

B. in logical groups.

C. by most recent use

D. in no particular order.

One activity in editing word document that
duplicates selected text is

A. Cut and paste

B. Move and paste

C. Copy and paste

D. View and paste

Formulas in Excel usually begin with the sign
A. =

B. -

C. /

D. /

‘xIx’ is the file extension for
A. Word documents.

B. Excel documents.

C. PowerPoint documents.
D. CorelDraw documents.

What key is used to select multiple ranges of
cells in Excel?
A. AltCar or AltGr

B. CTRL
C. Alt
D. Shift

The combination of letters and numbers as used
in computing environment is termed

A. alphanumeric.
B. alphanumbers.
C. characters.

D. letters.

END OF OBJECTIVE TEST
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